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( Introduction to Textile and Clothing and
Family Resource Management)
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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. State whether the following statements are
True or False : 1x5=5
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(a) Satin weave is a plain weave.
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(b) Slubyarnis an example of novelty yarn. (b) Define yarn.
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(c) Felting is a method of non-woven fabric
construction, (¢ Name any two methods of fabric
construction.
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(d) Money is a human resource. (d) Two basic weaves.
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e/} Evaluation ig the first step of

management process. (e} Two examples of vegetable dyes.
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2. Write in brief on the following - (any five) (/) Two benefits of planning.
2x5=10 s 707 R
10 FAPRES 170 50 B4 ¢ Ry o)
. Two characteristics of value.
fa)  Two primary pr operties of textile fibres. @
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(h) Two steps in decision-making. (¢ Hand printing
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(i) Two characteristics of management in (d) Importance of clothing
the home.
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(e) Characteristics of resources

() Two elements of energy management. TR @REFTR
A& ~fRoeme 7 Sotmm)

() Motivating factors in management

3. Write on the following : (any four) process
5x4=20 SiRpEH AT IARe IR
OS2 A3 °
g eo for ¢ (Rerzt 5I5Y) (g) Characteristics of decision-making
(a) Types of yarn s azie ERFEPTR
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K (h) Time demands during different stages
(b) Weaving of family life cycle
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Answer the following : (any one) 10x1=10
weTs MarTEs Ot ol ¢ (R  bt)

(a)

(b}

{c)

What is textile fiber ? Write about the

classification of textile fibers according

to its sources. 2+8=10
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Classify textile finishes. Write down any

two types of Textile finishes. 2+8=10
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What is management process ? Mention
the steps involved in management

process. Explain any two. 2+2+6=10
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(d) What are different techniques of work

simplification ? Explain any two

techniques. 4+6=10
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